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[Question ID = 154][Question Description = Q54_Hindi_SH2_Set1_A]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

55) ‘ufg’ wEEi FAm E -

A =g
(B) i gl
(C) Tm
D) e e

e Tou T et 0 @ WE S R =EA I

D () 3 (O) (2) (&) 3 (B)
(3)  (B) 3 (D) @ (C) 3% (D)
[Question ID = 155][Question Description = Q55_Hindi_SH2_Set1_A]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]
56) fafefEs © O FECTER F FEE TR A
(a) ot aw
B) T
(C) EreE o
(D) T+ F ATH

4= fov v faweai # 4 | T #1999 hiE



D Q) RO (2 (B 3k D)
(3 (&) =k (D) 4 (B) 3 (C)
[Question ID = 156][Question Description = Q56_Hindi_SH2_Set1_A]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]
57)  wcivar 3 4 FEEl F w0 A F FAEI AT
(&) T FEE A w2
®) oy fafs o w e F 3d F S e o9 R
(C)  TEhT oM U 7 SiEA H SE O = oA
(D) =3f%a = 59 % - #i Atq=aiEd =6 2

A Tou U T W OH WE S R =9 R

(1) (C) = (D) 2) (B) = (O)
(3)  (A) F(C) 4) (B) =% (D)

[Question ID = 157][Question Description = Q57_Hindi_SH2_Set1_A]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

58) ‘el iz & sl A @ A A

(A) =7z FEAT B = T g qEites gEey 2
(B)  3HEH F%A @ ga T 2
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1) A #(©) (2) (B) = (C)
(3)  (C) = (D) @ @) D)
[Question ID = 158][Question Description = Q58_Hindi_SH2_Set1_A]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]
59) wwdg T % wHE FEeEE F
(A)  TEEMEE IE
(B) =iy =
(C) 7w T mH

(D)  warEE T

Fr1 fou o fapeat 9 © =@t =W w1 = Fifan
(1) (A ¥ (D) (2) (B) #H (C)
3 (B s (D) @ (A) ¥ (B)

[Question ID = 159][Question Description = Q59_Hindi_SH2_Set1_A]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]



4. 4 [Option ID = 636]

60) Grafafaa & #0 TFmE w=r F T Ad A0

(A T g

(B) T
(C) wAEE
D) =EEE

= fou e T 5 O T T = i

1 @ = ®) (2) (A 3 ()
(3 (B (D) @ (C) =k (D)

[Question ID = 160][Question Description = Q60_Hindi_SH2_Set1_A]

1. 1 [Option ID = 637]

2. 2 [Option ID = 638]

3. 3 [Option ID = 639]

4. 4 [Option ID = 640]

61) “yawnisdi % wfqur
(A) =i w T [ w| e W e e aes e T
B) I T 39 waE FerE w1 T e e e w2 e

(C) =it 3Uerm # 27 it 97 TE 7| TFW IH AT T9-HEUN HEHF SAEN T

D) =i # s e AR e F e 2
i f2u U faeTl § W wE I = HI

(1) (A = (C) (2) (B) = (D)
(3)  (C) ¥ (D) 4 (B) = (C)

[Question ID = 161][Question Description = Q61_Hindi_SH2_Set1_A]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

62) ‘it e A W Wi
(A =t
(B) =l = H

(C) =il ol =1 =

[

(D) =1 T i i

4= f2u U el # | TE W R 99 A
(1) (A %1 (B) (2) (B) 4 (C)
(3)  (C) ¥ (D) (4) (A) =R (D)

[Question ID = 162][Question Description = Q62_Hindi_SH2_Set1_A]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

63) ‘s g’ % ey A HA-H =R A 27

(A)  TE HETEA % ASWEA (54 i w1 W AL 2|
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A b P T R i B - e L e e e S i B |

(D) ‘FuET S TEE FH E T T 2
il fou T Terwedl | A WE S S = hiA -

(1) (B 3 (D) (2) (B) = (C)
(3) (A =W (D) @) (A = (B)
[Question ID = 163][Question Description = Q63_Hindi_SH2_Set1_A]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]

3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

) uma-ggm % i @ F-3 e ad #2
(A) 3% R HERH fawiien £ wfa | g 2)
(B) = fe=di 1 ggen TsHifaE A 2
(C) =z o= 9um 12 2
(D) A 30 T4 H 9Wd & fasE 61 9 TS 2l

4 fou mu fawedi O o a@ft s F =2 Fifau .
(1)  (B) 3 (C) (2) (A) 311 (B)
(3) (B) (D) 4) (C) 3R (D)

[Question ID = 164][Question Description = Q64_Hindi_SH2_Set1_A]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

65) AT =i HiadT O GEad TRl 929 ©
(A) =G A T i AwS AR e o wi
(B) =R A % wEm-ga= Fi == F R

(C) =M% % 971 UH = fawa wrEnies i S 2w 7 # w9l

(D)  =FAEE T HEal AEEEE E |

H= fou U fameTl 9 5 |@E S 1 T= R
(1) (A) ¥ (D) 2) (A F(©)
(3  (B) s (D) (4) (C) = (D)

[Question ID = 165][Question Description = Q65_Hindi_SH2_Set1_A]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

66
) -1 = =1y F=-11 #1 faem fifae -
-1 i -11
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(B) §Hg &l T Hiufd % HE (I) 1955
(C) wrargm sifefay (IIH) 1959
(D) H&cq (IV) 1963
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(1) A-O B -dd. © - {dn, D) - av)

(2) (A)—(III). (B)
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Iy

(4) (A)—-10. (B) — (III). (C) — IV). (D)

[Question ID = 166][Question Description = Q66_Hindi_SH2_Set1_A]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

67)
Hei-1 & |19 F=1-11 =1 firers ifae -

HeAi-1 gefi-1I
(A)  IHR (I) 3 Fr
(B) wErr (IT) ¥kt
(C) =qad (IIT) |rd gaun
(D) TirEREEHE (IV) ==

= feu o fawedi O 4 a@f I &1 = i -

(1) A-O. @B - d). (©) — JdID. D) - IV)

(2) A —(@v). (B

ID. (C) — M. (D) — (D
(3 G-adn. ®
(4) @A -av). @®

. (©) - dvy. M - {In

(III). (C) — D). (D) — (D

[Question ID = 167][Question Description = Q67_Hindi_SH2_Set1_A]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

68
) Hel-1 & |19 g1 -11 @1 e fifae -
gefi-1 HAl-11
(A) IR P (I  EAATZE Sl
(B) = (IT)  HEITeTeh AT
(C) ya v (III) Y244
(D) HFEI =TSR (IV) fifd 1y

= fou o fasredi 0 9@ wft T %1 994 Hifaw -

(1) (A)— (). (B) — (II), (C) — dII), (D) — (AV)
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IV). (C) — ). D) - @O
(3 @-dad. @

(IID. (Cy — AV). (D) — (D
(4) A)-avy. B) - @O. (C) - (I, (D) — D)

[Question ID = 168][Question Description = Q68_Hindi_SH2_Set1_A]
1. 1 [Option ID = 669]



2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

69)

(4)
(B)
(©)
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T A (I wfiEa ardi
favaary (IIT) 7ed gdu
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(1)
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4
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am. @O — dv)
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(A —1D). (B — dv). (C) — {II). Dy — (I

[Question ID = 169][Question Description = Q69_Hindi_SH2_Set1_A]

A W N -

1 [Option ID = 673]
2 [Option ID = 674]
3 [Option ID = 675]
4 [Option ID = 676]

70)  g=i-1 % e g -I1 1 faem fif -

(A)
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-1 HHI-11
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4 feu mu fawedi O 4 =g R & 999 Hifsw .

(1)
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(3)
(4)
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[Question ID = 170][Question Description = Q70_Hindi_SH2_Set1_A]

A WwWN =

71)

1 [Option ID = 677]
2 [Option ID = 678]
3 [Option ID = 679]
4 [Option ID = 680]

-1 & =y g -11 1 fres Sifau -

(A)

gl-1 qdi-11

AT Hed Higd () el A=



(B)
(<)
(D)

THTHEA ST,
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[Question ID = 171][Question Description = Q71_Hindi_SH2_Set1_A]

A w N =
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1 [Option ID =
2 [Option ID =
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-1 & 19 H=I-11 F1 fHerq Hifae -

(A)
(B)
(€

(D)

HH1-1
e
aferap

HTHAT

4= feu o fgeradi O 8 T8t 3 &1 999 &t -

(1)
(2)
(3)
(4)

A)-O. (B
A -dan. @
(A) = D). (B)
A -av. @

(I).

(I1T).
(IV).
(I1I).

(C) — (III). (D)

(C) — (IV). (D)
) — M. @O
(C) — (In. (D)

HI-11
@ s HigrEd
(II) Wi
(IIT) wg]

(IV) 354 && o

(IV)

(D

(ID)

(O

[Question ID = 172][Question Description = Q72_Hindi_SH2_Set1_A]

1. 1 [Option ID =

685]

2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]
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[Question ID = 173][Question Description = Q73_Hindi_SH2_Set1_A]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]
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[Question ID = 174][Question Description = Q74_Hindi_SH2_Set1_A]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

75)

HH1-1 % |1 g=1-11 &1 fgers $ifa -
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[Question ID = 175][Question Description = Q75_Hindi_SH2_Set1_A]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]
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(C) T &1 U o
(D) -3yl
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(1) A). (B). (C). (D) (2) (B). (C). D). &)
(3) (C). (B). (D), (&) 4y (D). (A). (B). (O)

[Question ID = 176][Question Description = Q76_Hindi_SH2_Set1_A]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]
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&)  FEIE
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(1) (0. D). B). &) (2 (A). (B). (C). (D)
(3)  (B). (C). (D). (&) 4 (D). (B). (A). (C)

[Question ID = 177][Question Description = Q77_Hindi_SH2_Set1_A]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

78)

Frerferfiga i w1 5 39a 2 -
(A)  frafers
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(D) Wi ufiuz ug gied

i< fou mu fgeedi 4 |4 w6 I &1 99 g0
(1) (A (©). (D). (B (2 (B). (C). (D). (&)
(3) (C). (A). (B). (D) 4y (D). (B). (C). (A)

[Question ID = 178][Question Description = Q78_Hindi_SH2_Set1_A]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]
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(&) o Frhl
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-
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(3) (). (D). a). (b) (4) (L) (A). (B). (D)

[Question ID = 179][Question Description = Q79_Hindi_SH2_Set1_A]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]
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a4 9 & gur fefafia e+ ad w2 -

(A)  THerw
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(C)  wregEe T
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(1)  (B). (O). (D). (&) (2) (C). (D). (A). (B)
(3) (A. (©). D). B 4 D). (B). (0. (&)

[Question ID = 180][Question Description = Q80_Hindi_SH2_Set1_A]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]
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TR T o FFET AT S B STATE 1 HE 3 2 -
(4)  femmg & Hd
(B) UM

(Cy  HA =rdl % HH
(D)  9EC Y2HE

i fgqu o foeredi § | |/ I #1994 AU
(1) (D). (A). B). (O) (2) (B (0). (A). (D)
(3)  (C). (B). (D). (A) 4 Q). B). (C). D)

[Question ID = 181][Question Description = Q81_Hindi_SH2_Set1_A]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]
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(A)  FAAIE
(B)  yawariy
(Cy  Tr=g4i
(D) T
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(1) (D). (B). (A4). (C) (2) (B (C). (D). (A)
(3) (A). (B). (C). (D) 4 (C). A). D). (B)

[Question ID = 182][Question Description = Q82_Hindi_SH2_Set1_A]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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[Question ID = 183][Question Description = Q83_Hindi_SH2_Set1_A]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]
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(€  wHeEs
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[Question ID = 184][Question Description = Q84_Hindi_SH2_Set1_A]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

85) frrfeafiga aprea gl *1 Wl 519#y 2 -

(&) Sfem

(B)  ic 1 4z a1 2
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[Question ID = 185][Question Description = Q85_Hindi_SH2_Set1_A]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]
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(1) AR EH 99 2 3 R. A il 98l sqrE 2|
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(3) Ad™ R, offFd R 35 21

(4) A 3™ 2, ¥4 R 59 21

[Question ID = 186][Question Description = Q86_Hindi_SH2_Set1_A]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
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(3) AWM, oidd R 315 2

(4) A 3H™ 2, cifhd R 979 2|

[Question ID = 187][Question Description = Q87_Hindi_SH2_Set1_A]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
88)
H g wuA fou e A v HfuHYA (Assertion A) & ¥4 H feifiga 2 91 gEN 34 FRU (Reason R)
% EY Y
AR A ¢ Hies after &1 5T 2 TR 918 &1 39 9res 99w 21
FHOUR . FilH GIEH & 74 h faddr & wro are agernedi a2

I heH & Ao °, Hrd fou  faweni 4 3 5 3w & 937 Fifa
(1) AR RTH 909 8 31 R, A 5l Tdl =30 21

(2) A R R TH 99 &, olf4 R. A =il W& =amen 8 21

(3) A#F 8, diF R 3763 2

(4 A 6 2, &f R 9 2

[Question ID = 188][Question Description = Q88_Hindi_SH2_Set1_A]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]
89)
H= €1 oA fqu e & : us HiHHUA (Assertion A) & ¥4 H fafigd 2 A1 g 36 #RV (Reason R)
FEYT
AP A . Feo Fred &1 sifar wreE 2)
FAU R FIfE FeUdT w0 gied 2
I YA % el 4, Hi fou o fawed 3@ 4 v I # 99d i
(1) A 3R REH 9l 2 3l R. A <l |t =gz 21
(2) A 3R eH A 2 3t R, A 6l el =uwEn 78 2
(3) A 4él 2 dfed R wél 74 8
(4) A% TE 2 afea R w981 21



[Question ID = 189][Question Description = Q89_Hindi_SH2_Set1_A]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

90)

H1< 21 @ feu mu 2 . v sfuwem IﬂssertionA}ﬁinﬁ%ﬁﬁ%ﬂtlwmm(ReasonR]l
FEIH :

Afeped A : Flad 5 % 529 %1 g il 2l

FRUR U & ged il Whd e wfadl § Hvd 2

3T e % s A, A4 fou o fawedi d 8w sages #1 w9 Hif

(1) AN RcH @& 2 311 R, A il a8 sare 2)

(2) AR ReH ¥ 8 3 R, A & |51 srEn J8 21

(3) AW 2% R gEl i 2

(4)  Awdl Al 2 A R wd A

[Question ID = 190][Question Description = Q90_Hindi_SH2_Set1_A]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

Topic:- Hindi_SH2_Set1_B

V) fdw ; Fefefios sEaw i SAFYEF TG0 ST Y79 1 I (50 T et § | g

7fg Tl 291 1 =el =9 T 09 9971 G 61 91 G 7, a1 HEA 910E0 6 36 T A 9

T A A F W H GECRG AR I9d S 7 S 94 6 A =9 6 orE el e fmmd o
HE | F W@l T % WF AR =R B H AT S T SR 2 2| S A | A B

S BN <7 T A1 Ui F FEERR SR T ST 7, SEih 2HE GO 6 ST 57 Tg § T 54 A,
i 7T Aes Fi-H S SWE % Ao % A1 ol 78 2, 99 76 qeAn aiee 6 i foeelt sma o 2
el 9 i ATE-TEEY FE 2| HiEcd H 9rgal 99 9% 595 3 0 o™ o B9 TISH H U Uhl Aeedi
ATFIEA FEE A 2, T AR GEE-EETE F e § 6R G @ g 9 FEE-A0T S F o w3
ST TE| ST AR AT SA 21 6 91 29H O Ueds S -0 i % AEn 3 A W
1, 97 UF A 0E g w6l SR gHAmEnl 6 S # ehmen w6 a4 w0 | S JifEcrs Hee F A
T=I1 I wR TG T TR TS, 97 T ST TR @ R AT SR S eTaT O S Hedl Te1 AT
TF T T B| 9 A

ferefl 291 3fn 3wk ariel o afa-faafo 9t dva 2, e -
(1) 38 g9 & o =413 7l

(2) 39 &9 ° wetaed 2|

(3) 39w & @ FE F

(4) 39 <u 4 |AfE-fain % uya @eE dieg Al

[Question ID = 191][Question Description = Q91_Hindi_SH2_Set1_B]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

2) fdw : ftataa @ #i SAFYEF TiGU ST U39 %1 I (90 70 e § 5 g



Tt {El 591 1 SE F9 TEE 90E 997 g5 6 S99 S0 2, 91 9HA1 J1ET 6 39 e i e 5
e 7 T F R W GEEG 97 I S 2 S 7 36 A 'Y 6 W 9w = fome ga 2
HR HWY F W@ T % A% SN = BH H AT S T SR 2 2| A A | s 2
SEF FOW ST T A 9T F PR SR T S §, a5 OO ST 59 TS ° T 5 7,
FarF T T F-Td S AE % g A e 5 2, 79 w6 g mee ot foeelt w2
e 9 i ATE-TEEY FE B WIET I O 99 9% 5950 7 50 7™ o9 B9 TSR H U UHi SAeEHi
HHE AW 9 B 5, A AW AHG-HEE 1 A6 H S §E 8 g 991 SEE-ArE gEd $ e w5
TATFE T | ST A7 AR WA 21 S a1 THE O UedTh S-S0 9 % STEn 39 A s
1, 77 T e O g wF S gHEeEt SR S i ehEen o 54 ) S At s & we
TE1 R T TR T TR TS, T A AT T WS R | "1 S ST O his HEal Sesl AT
oF THl wH 2| g = =

wifge -1 F1 e H1 FR0 R -

(1) o9 o frarfosi 4 st foen 3 seer & ufd s1ge =01 3 sieqaam™ &1 319E)

(2

) 29 RS W U ) HERR 2% 9 ahdedi I 3 wag =)

(3)  HYTH H =AT 9el uen|

(4) =i Anrnl F s=E foen 2

[Question ID = 192][Question Description = Q92_Hindi_SH2_Set1_B]

A w N =

3)

1 [Option ID = 765]
2 [Option ID = 766]
3 [Option ID = 767]
4 [Option ID = 768]

Tiim : FefofEn samm 1 e afee 36 999 =1 3 fo 7 fawea 5 @ 96w

Tt {El 591 1 SE F9 TEE 90E 997 g5 6 S99 S0 2, 91 9HA1 J1ET 6 39 e i e 5
e 7 T F R W GEEG 97 I S 2 S 7 36 A 'Y 6 W 9w = fome ga 2
HR HWY F W@ T % A% SN = BH H AT S T SR 2 2| A A | s 2
SEF FOW ST T A 9T F PR SR T S §, a5 OO ST 59 TS ° T 5 7,
FarF T T F-Td S AE % g A e 5 2, 79 w6 g mee ot foeelt w2
e 9 i ATE-TEEY FE B WIET I O 99 9% 5950 7 50 7™ o9 B9 TSR H U UHi SAeEHi
HHE AW 9 B 5, A AW AHG-HEE 1 A6 H S §E 8 g 991 SEE-ArE gEd $ e w5
=THE T | TR AR AR WG w5 T @ 59H ¥ 0o A -0 A F ATER 3 AR H
1, 77 T e O g wF S gHEeEt SR S i ehEen o 54 ) S At s & we
TE1 R T TR T TR TS, T A AT T WS R | "1 S ST O his HEal Sesl AT
F TE Tl 2| P BT =

AT FuTE gifaey -

(1)

(2)

(3)

AN

e, w3 29 I SFETIHAA 6 FET 2|
adArraA qoi 21
S 30 FEEHR g H § Heraw 2|

mrorhgs At & oul 273 O of 3re man o= 2



[Question ID = 193][Question Description = Q93_Hindi_SH2_Set1_B]

A W N -

1 [Option ID = 769]
2 [Option ID = 770]
3 [Option ID = 771]
4 [Option ID = 772]

4 oo« F=Afefga s1aa F1 SImyEF Tieu 371 799 61 39 150 70 fahedi 3 § g

Itz fdt 291 1 AR = TE AT 99 gt TR 9 9 B, 9 e =@iEn 5 39 g fi e g
e F AT F WA ° mEeE 9 I9A s 2 o 9 s A =9 6 wrE e s fmmr o 2
ST =Y F A B F 9TF 5N = EN ¥ ATAE = 1 6 ST 2 2 S A AW sreenteE 2
S FAW 9 § A1 919 % FEERR SR T G9EE 7, F60E 2R 96T H A S0 TS § 6 5 7,
T FHE s FI-HG S ATE & Aes A ool 58 2, 99 6 5 =nee i foeelt wmn 2
el 39 H HIE-F=EY TE 8| HiEcd $1 GG 99 9% S50 7 W S| 9% 79 UIAH § UF UHl HeHAE
A TG T B2, A OAE GEEG-TE B AW ¥ 3R 9 ¥ g 99 TEE-a0T 35 F o a9
STFA T | 3P T7 AR WA 7 Wl 9 59H d TeaE AT1- AT A6 STE 3 A w A
T=@1 Tl o TR T FFd 92T, 97 =99 391 A1 @09 S| OTE F 9e9q ¥ Fi 9ad] =21 9
T TE Thl £ W wA =)

g0 Aq=e 4 aifd F==ia =i & ge 2 -

(1)  HifEd & gH1 5981 & Sdaiad 95hd 31 3=d =M1

(2  uifEes % g ugsa & st i w5 e dva 96 2)

(3) U & F-ddiel HEbR HH =R & foru Aifaera qiee a2

(4) WIS & @ EY hl geel 3N e §4H)

[Question ID = 194][Question Description = Q94_Hindi_SH2_Set1_B]

A w N =

5)

1 [Option ID = 773]
2 [Option ID = 774]
3 [Option ID = 775]
4 [Option ID = 776]

Tt . frfafea sEaw i smgEs afen 31 799 1 5 fou 1 fawedt 7 9 giu)

ot feli 51 = A =9 HE A0S 99 G A S 5 R, 9 @S 9iEn 5 36 e f e §
e 7 T F AR W GEEG 3R I A 2 S s 3o v w9 6 W 9w = fome g 2
H T F WE B9 % ATE AN T EH O AT R SR i 2 2 # S =i 2

S FOE S9 T A1 GI F PR SR T S §, SEi 5HE OO 9 ST 5 TS § o 54 7,
TEF 7 FeE FI-HE T A F Ao % A ol 72 2, 79 76 g At G ol faeel sme 2
A Tifacd & 910 W A $8 W @ 2 AT A B © @ 8, 60 wal w9l 9l w1 ® @ 2| wAw fio @i
= w79 i ATE-TEY AE 2| WiEcd i WU 99 96 w99 2 T S" oF B9 T8 0 U UMl e
HHIET AW A B 5, S AW AHE-HEE A6 ° S §E 3 g 991 SEE A0 gEH % e H5e
TFE T | ST AF AR WA 21 Hh 9 THE O UedTh S -0 9 % SEn 39 A s
1, 97 UF o 56 g wrfl S gl S STl 1 ehimen & w4 el S st e & A
T=@1 F T TR W T TS, 9E T AT T G AT =1 ] ST | S "edl sel AT
7% THI wHh 7| g = =)




HeE Sreia & fer -

(1)  ffed |va 98 2

(2)  faen =39 2 s wifzfegss frs & | o 6 @ dvg T4 2
(3) TR &I qelr G 2, gl & @A Hife )

(4) g % Fare | gf qvd 2)

[Question ID = 195][Question Description = Q95_Hindi_SH2_Set1_B]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- Hindi_SH2_Set1_C
1) ffw . fefafga sEam = emgEs e 3 awe #1 3 f7e e fawen @ g
THEfZE g I AT O 9T T Fed T I I w2 39 T8 FEl S "EAl 2 % T A

T % =W F 0 96 e 2| TE-TEE F e #1919 T w6 2| R O 99 i =69 O Aiewa

=TS T i wE F =Y 9 A Gl T S-S 9 ] (S B T S ST sl T oA ol

T F T glg STTEETHF w6 T 6 T F T S dig-saamET® A1 GEneE w9 a5 Al

oA = T 2| o9 39 f9En % my B e T w Ewn ff aemn wem) = fi e |, ameEE
TR SR SFHTH G SEEed TR ST a2 F HEeTE ue g SR Feia A Si-36 36w

T e 4 1 98 290 Sl 9 W SeeA 21 SE-HaA1 5 F S5E 39 F5e w1 UF a4 5|

WA Al & Hed o frofofiga U @ wh-m wum wd 20

(1)  dsfes fadem § Iganfea afdferfaal s azdl & gdoysfi va @1 gd 3 oofia faau 2=9 *=
&1 WHH L Z

(2  faemi R fean | affeafadi % adersfi gd st wofe g W e s g

(3)  qgHYM, 79 faur s dafae faaem 4 sgnfea mites fifeufad % gd sin asfa faa @ #fa
%1 39 H1e4 b Uk A& & w9 H wfae & 2

(4)  snyfE sgEYE g Igaifea ifeafadi sie axgi & wdersfl g &1 wfaa 0 sfas w=2m g
!

[Question ID = 196][Question Description = Q96_Hindi_SH2_Set1_C]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2) fEw : FeAfatEa e FOSATEE T SR T F I 5 T fawen | g

T G I AEA | 9EAT A RS ST AT Rl 2| 36 TR SRR A @Al B R T A
T % =W F 0 96 e 2| TE-TEE F e #1919 T w6 2| R O 99 i =69 O Aiewa

=TS T i wE F =Y 9 A Gl T S-S 9 ] (S B T S ST sl T oA ol

T F T glg STTEETHF w6 T 6 T F T S dig-saamET® A1 GEneE w9 a5 Al

oA = T 2| o9 39 f9En % my B e T w Ewn ff aemn wem) = fi e |, ameEE

A 1T STHEE W SEEied Ul SR 9o % qEesl e g W Jena = Hi-36a 5| =



T U 91 T 98 590 REl 919 T 3ATA99 51 T -9 1 HE 7N 3=9 F=4 F TF 07 50|

TG HAA  AGR T A § 3 fHE-a FeE 9é) T8 2

(1)
(2)
(3)

(4)

FH-YHH 3 1 -SHT TER Hefad 2
FH-THH & ERA H Yd-HH T 2|
FH-THE o didd 91a g1 261 21
s il feufq wra <1 feafa 6 gdadi 2

[Question ID = 197][Question Description = Q97_Hindi_SH2_Set1_C]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)

T« Fr=feifen s i SAEYEE gl 3T T # 3 e T e @ g

FHfEET g1 YT Al § CWEAT @ FeAr S DS HEl 2| #Ad: 98 BE A g 2 1 T A
T = TEW % oAU qF] G 8| AE-9EE % ol ¥ 9" T w1 2| SR 0 5 A w9 g Awat
stoae T TR % w9 4 F F S -5 S0 F F (S w5 T SR G "l 18 oAi-od
ferqa =1 7on 2| oA T FEn % W v AT v w0 fn o g wem fEw F e w, amhe

o= 31 STEgH g Sgeted aRfafaat o qea % gieael v H g o wefia e s 5w =

¥ et Wi % 97 =AW Rl WE W SeEE 2 SE-HaE1 5 F 3 39 Fe w0 UF e w5

WA @ & Hed § fefafigd 0 |4 FR-m sy w58 27

(1)
(2)
(3)

(4

e o 4 foranl & fowan & @Y g & faran 6 ®1E sravadar 48 2)
2N FHE 1 394 faar & fasan & Wy gen @ favan e sy 2)
feraml i wal & fawan 6 sravgsa a9 2, g 1 980

et 3t Wil & ferem =1 9rE FTe8 W HEWE 2|

[Question ID = 198][Question Description = Q98_Hindi_SH2_Set1_C]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

TEw : FeleiE dEa F1 SamyEs giee 317 99T =1 39 5 T fawen @ g

TR g WA AW H WTEAT W R ST A0 Al 2| 3 98 FE o 9l & % T A
Tl = TEW = o0 7P G 2| aH-9EE % ol ¥ 9" T w6 2| 7R 0 5 A w9 e At
st=Fs T F wEite & =9 4 F w1 T S-S 5 S wa T SR S "l 18 o —odl
ferqa =1 on 2| o 0w faEn % W v AT v W fn o aem v faEw F e |, amie

o= 31 aTEH g Sgeted gRfafaai o qea % gieael v e o wefia e s 5w =y

T uertE Wi 1 9 =AW Rl WiE W 9eEE 2 SE-HgE1 5 F 3 39 Fe w0 UF FE w5 |

e waaw % Hed d freferfad 8 @ w-m wum wd TE 20

(1)  w1E91 A Hedal I 8§ ured Al 61 gt sl 21



(2)  HE-SEME § TH-SI9R H=Ged B 2
(3) 78 foramdl, Jsnfaes faaerdi & wfcdey 4 wfa & srofl weba-wfd & wgg Fon sraws 2|
(4) W@ F THR TH % FHR & Hid 7

[Question ID = 199][Question Description = Q99_Hindi_SH2_Set1_C]

1. 1 [Option ID = 793]

2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

5 fw : FofatEa sEE F ST en SR T I 5 T fawen | g

THZAT R 9T T ® 9IS A Fe] ST A A1 2| 3T 98 e o 99T & 7 T A
Tl FEE F o0 OF @ed 2| TE-TEE F iR @ 99 T 2 2| 9ny 0 59 =9 o e

st=as 7 F §EiE % =0 W F T T S-S S8 F e 2 T SR qST "edl 18 o -

T F1 TH Gfg STEEETTF w6 T 6 TS F T 8 dig - sASmaeTs A1 SEneeE w9 95 Al

foqa =1 T 2\ 10 6 fawn F Wy 26 90 wea # Een ot sem uem faam Fi G T, amiEe
foam it sEam g SgEted whfeufa o az % gdepfl v w97 o aia feeor di-se o=

T TeaeE i T 9% 790 el 9 W WA 5 51 B HH S I He i UF S8 w5 |
A A Hed 4 frAfeifan d 8 wF-m wem w8 20
(1) W= & dg4 & 519 5 & 9/ Afas =19 2 W A
(2) WA % dgd & Wy 9y Fl gfg 3R 9a 1 1 g # o R
(3)  wEal & fawm & |y wn fad gfg 6 s w2

(4)  wEE & fawm & W gy & faan st s g w

[Question ID = 200][Question Description = Q100_Hindi_SH2_Set1_C]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

Topic:- GP12_D2_SH2_SET2_A

1) Study the given table and answer the guestions that follow.
Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B, C, D). M- Male, F- Female.

Countries | A B C D

Y ear M|F|M|F|M|F |M|F
2016 360 321 42| 3.7] 34| 2.8] 5.6 4.2
2017 43| 2.9] 3.8 1.7 3.2] 1.9] 48 3.8
2018 53| 39| 54| 3.7 3.7 22| 64 42
2019 67 431 67| 56| 3.1] 1.8] 56| 2.8
2020 83| 721 69| 5.4 4.1] 2.5] 5.4 2.7

AT & 7% afee & 92 v A9 R v At & I T -
7 & = afewr & vude TeEat (@ &) f 9w & = § Gl )
fafdtest &alf (A.B.C.D)¥ U Wer widaifdtar & smer forar §1 M- 9w, F - Afger

oar A B C D

Bk MF M[F MIF M [F
2016 36 B2 [42 37 |34 |28 |56 12




2017 43 |29 3.8 |17 B2 1.9 3.8
2018 33 B9 b4 3.7 BT |22 |64 B2
2019 6.7 B3 6.7 |56 3.1 |18 |56 |28
2020 83 |72 |69 |54 W1 |25 |54 |27

Which country has the highest number of female athletes during 2016 to 2020?
2016 21 2020 @ gierat fapa o1 &t aAfden werctiel &t raifers e & ?

[Question ID = 2001][Question Description = S2_qSNz_PG_GP12_Q01]
1. A

[Option ID = 8001]
2. B

[Option ID = 8002]
3. C

[Option ID = 8003]
4. D

[Option ID = 8004]

2) Study the given table and answer the questions that follow.

Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B, C, D). M- Male, F- Female.

Countries | A B C D

Y ear M|IF | M|F|M|F |M|F
2016 3.6 3.21 421 3.7 3.4 2.8] 5.6 4.2
2017 431 29| 38 1.7] 321 19| 48 38
2018 33 39 54 37 371 22| 64 42
2019 6.7 43| 6.7] 5.6 3.1| 1.8] 5.6 2.8
2020 83 721 69 34 41| 23] 54 27

fRdmafes s it e narFsw
A & T afeET d vade fWentRat (3% &) & gear & e § Sy Ox
fafiies &2ff (A.B.C.D)# = We ufadifdiar & smr for 81 M- 9w, F - #Afgar

Pt A B ¢ D

Bk MF M[F MJF M [F
2016 36 B2 42 37 B4 28 |56 42
2017 13 o 38 [17 b2 [19 |48 B2
2018 53 o |54 37 B7 |22 |64 f2
2019 67 13 |67 |56 31 |18 |56 P8
2020 83 |72 |69 |54 b1 |25 |54 p7

What is the percentage of female athletes in 2017?
2017 3 afdan verctic foaar yferera 3 ?

[Question ID = 2002][Question Description = S2_qSNz_PG_GP12_Q02]
1. 37%

[Option ID = 8005]
2. 38%

[Option ID = 8006]
3. 39%

[Option ID = 8007]
4. 40%

[Option ID = 8008]

3) Study the given table and answer the questions that follow.
Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B, C, D). M- Male, F- Female.

Countries | A B C D
Y ear M|F | M M M|F
aTat = S £ N 4 3 27 2 A0 Yol £ 21 4




LS M Sy Ty o4y ST

2017 43| 29 3.8] 1.7 32| 1.9] 48 38
2018 53| 39 5.4] 3.7 3.7] 2.2] 6.4 42
2019 6.7 43| 6.7] 5.6/ 3.1] 1.§] 5.6/ 2.8
2020 83| 72| 69] 3.4 4.1) 2.5 54 2.7

AR afE s IR AT R v geAT & IR T :
e & Rl arforer & vuee faenf3al (d«3 ) & dear & = § Tl 9]
fafeies 22ff (A.B.C.D) ¥ Te W ufaalf@iar & smer orm 81 M -T8w. F - #Afger

&er & A B C D

EE] MF IM[F MIJF M [F
2016 36 B2 |42 137 B4 |28 |56 B2
2017 413 o 38 [17 B2 [19 |48 32
2018 53 B9 |54 37 B7 22 |64 2
2019 67 13 |67 |56 B.1 |18 |56 g
2020 83 72 |69 |54 b1 |25 |54 b7

Find out the difference between average male athletes in 2016 and average male athletes in 2017.
2016 3 siiera gay werciled siiz 2017 3 siiia gay wercdle @ & siay ol sid difsm :

[Question ID = 2003][Question Description = S2_qSNz_PG_GP12_Q03]
1. 0.6

[Option ID = 8009]
2. 0.7

[Option ID = 8010]
3. 0.8

[Option ID = 8011]
4. 0.9

[Option ID = 8012]

4) Study the given table and answer the questions that follow.

Given below is a table having the number of athletes (in hundreds) who participated in a
sports event from 4 different countries (A, B, C, D). M- Male, F- Female.

Countries | A B C D

Y ear MIF | M|F|IM|F|M|F
2016 3.6 3.21 421 3.7 3.4| 2.8] 5.6 4.2
2017 431 29 38 1.7 32/ 19| 48 38
2018 33 39 54 37 37 22| 64 42
2019 6.7 43| 6.7] 5.6 3.1|] 1.8] 5.6 2.8
2020 83 721 69 34 41| 23] 54 27

fdmaftes st irdf RranarFsw
A & i e 7 vueie Tetsat (@t A7) fr g & = § Sl )
fafeies 2aff (A.B.C.D)¥ & W ufadifdiar # smer forr 81 M-8, F - Afger

Zar = A B C D

EE] MF M[F MIJF M [F
2016 36 B2 [42 37 34 |28 |56 B2
2017 13 o |38 [17 B2 [19 |18 |3
2018 53 B9 54 37 37 |22 |64 J12
2019 67 13 67 |56 31 |18 [56 g
2020 83 |72 69 |54 a1 |25 |54 b7

Which country has the best 'Total Male-Female ratio’ from 2016 to 2020?
2016 31 2020 o Sivrel fepA S9I I 'Ged g>Y - Afdell sropurd’ Adiferm 3 ?
[Question ID = 2004][Question Description = S2_qSNz_PG_GP12_Q04]



1. A

[Option ID = 8013]
2. B

[Option ID = 8014]
3. C

[Option ID = 8015]
4. D

[Option ID = 8016]

5) Study the given table and answer the questions that follow.

Given below is a table having the number of athletes {(in hundreds) who participated in a
sports event from 4 different countries (A, B, C, D). M- Male, F- Female.

Countries | A B C D

Y ear M|F | M|F|M|F|M|F
2016 360 321 42| 3.7 34| 28] 56| 42
2017 431 2.9] 3.8| 1.7] 3.2] 1.9 4.8 3.8
2018 531 3.9 54 3.7 3.7 22| 64 4.2
2019 67 431 67| 56| 3.1] 1.8] 56| 2.8
2020 83 7.2] 6.9 5.4 4.1 23] 5.4 2.7

AR aessa R it RrawearFsw T
A & = arfewr & vuele enEat (S5 &) fr g & = § S 9]
fafdiest g2t (A.B.C.D)& ven Wer wfdalfdiar & smer foram g1 M- 9w, F - Afger

oxr A B C D

L MF M|F M I|F M [F
2016 36 p2 42 37 B4 |28 |56 2
2017 13 o [38 [17 B2 [19 |48 B8
2018 53 Bo |54 37 B7 |22 |64 l12
2019 67 13 |67 |56 b1 |18 |56 pg
2020 83 [72 |69 |54 b1 |25 |54 b7

Which country has the minimum number of male athletes during 2016 to 2020?
2016 31 2020 o Sieret b1 391 & yH wereliel &t e ogoraaa 3 ?

[Question ID = 2005][Question Description = S2_qSNz_PG_GP12_Q05]
1. A

[Option ID = 8017]
2. B

[Option ID = 8018]
3. C

[Option ID = 8019]
4. D

[Option ID = 8020]

Topic:- GP12_D2_SH2_SET2_B

1) What is the type of graphic organiser or mind tool used for knowledge organisation that can help learners interpret,
represent, and organise information by making a graphic in cooperation with others?

Silol YdeI @ {10 a9 cRAIRIg Ao 3R 9f.g SUMDUT DI YR TRAT 3 Sl GIRI D AT AGISI A FollU 3R] cRAIRI GRI fEPRIbdl Ot
SARSAT Dol YFdd Dol, i3 Joll DI af¥erd Dol d A DI ADI 3 ?

[Question ID = 2006][Question Description = S2_qSNz_PG_GP12_Q06]

1. Concept mapping/3m@emun areifercur

[Option ID = 8021]
2. Hyper media/sifezea (srmz) #ifsar

[Option ID = 8022]
3. Gestural prompts/srasifsrn ygolot

[Option ID = 8023]
4. Divergent question/3muist ysst



[Option ID = 8024]

2) What is the name of the process in which the listener provides feedback to the speaker about the message heard and
the emotion conveyed and lets the speaker realize how he or she is being understood and respected?

3 gfepr 1 a=IT ofid 3 fSrRe 9fiar avb I ol 3¢ JAS9I aar AFYAa 391 @ o 3 gfagfie ygror @war @ aen 33} gdardar 3 & R b yor
31162 fopem S 281 8 ?

[Question ID = 2007][Question Description = S2_qSNz_PG_GP12_Q07]
1. Active responding/ifégzr 3u 3 gfaur yferfapanr o

[Option ID = 8025]
2. Active listening/fdpr gfaur aon

[Option ID = 8026]
3. Centering behaviour/3ef3sr wrasrz

[Option ID = 8027]
4. Adaptive teaching/ st foremr aom

[Option ID = 8028]

3) Match List | with List Il

List | List 1l

Organization |Nature of course for MOOC

A. CEC I. Out of school students

B. IGNOU Il. Undergraduate education

C. NIOS Ill. Teacher Training Programme
D. NITTTR |IV. School education

Choose the correct answer from the options given below:

et -1 1 3 Il A AR B :

et | el -1
(zfo1001) (3> B fere ugarayr B gapicr)
A. 3t § 2ft . fremerr A are: @ fremeff
B. 3391 Il. 3raR Forea® fdrg

C. wol anr$ 3l v Ill. fdreres yfdreror wiaya

D. wot 3aiE & & & 3= V. faencrr forsm

ofid fGu are fameal 3 A Al 3= gforw :

[Question ID = 2008][Question Description = S2_qSNz_PG_GP12_Q08]
1. A-l,B-I1,C-1,D-IV

[Option ID = 8029]
2. A-ll,B-1,C-IV,D-ll

[Option ID = 8030]
3. A-1,B-IV,C-ll,D-li

[Option ID = 8031]
4. A-IV,B-ll,C-Il,D-I

[Option ID = 8032]

4) Given below are two statements

Statement I: In a learning organisation, the learning of teachers, their professional development, and the learning of
children, their education, are inevitably complementary and mutually

reinforcing.

Statement II: Intrapersonal intelligence does not involve understanding the inner world of emotions and thoughts, and
developing the ability to control and consciously work with them.

In light of the above statements, choose the most appropriate answer from the options given below
il S ool fRu sre 3 ¢

Dol - | : uwD 3ifeERI FoIodl #, 1gIml BT If2EEH, Iordl U9aR fa®rRT 3R dlciml @ 3if2ErH, oidl 18N srufssrR! Fu A uFuRY® 3R
UFUR Yordfera wadl 3

Do - || : 3oa: Guftpd AIEIGRT HIdeI3ll 3R RERl @ Jfl¥® SPEIA 3R 3AD AT BRIGUI 3R SIPReddI QUi BRI I Asadr @ fadrRT Bt
oNfdret o181 it

SURITb PDoil D 3Iclid H, ofldd U s1w famcul 3 A Jl IR BI wRIel Hiferw :
[Question ID = 2009][Question Description = S2_qSNz_PG_GP12_Q09]



. Both Statement | and Statement Il are correct/@erer | 3iz || Sloil 3 &

[Option ID = 8033]
2. Both Statement | and Statement Il are incorrect/@erwer | 3z || Sloil srct 3

[Option ID = 8034]
3. Statement | is correct but Statement Il is incorrect/werer | 3@t &, fpog wert || s &

[Option ID = 8035]
4. Statement | is incorrect but Statement Il is correct/ et | s1ci &, fipog et |l 3@t 8

[Option ID = 8036]

5) Which among the following constitute personal competence?
A. Empathy

B. Motivation

C. Social skills

D. Self awareness

E. Self regulation

Choose the correct answer from the options given below:
forgotferRaa 3f 3 et A Jufepad g o1 foraior w2 & ?

A. JToTIOLfCT

B. siférgzur
C. arnfores RrsIt

D. ¥a - SIBRemar

E. siea - foriqur
ofiY f3u 1w fameul #f A A8 Iz oI TRIel HIfSIU -

[Question ID = 2010][Question Description = S2_qSNz_PG_GP12_Q10]
1. A, Band Conly/dact A, B siiz C

[Option ID = 8037]
2. B, Cand D only/a@ae B, C sz D

[Option ID = 8038]
3. B, D and E only/d@ac B, D sz E

[Option ID = 8039]
4. C,DandE only/daa C, D sz E

[Option ID = 8040]

6) The form of asking mainly closed-ended questions that has been used in connection with the examination of people's
normative standards is known as

FIRIGAT A IR drel Yosll oI Y&ol I Al Sl clldll I foRIAD ATeIcs] @ U3Igul o Ader 3 Ygep fovr Sidr 3, 33 $1 U 3 Silell SIidl 3 &
[Question ID = 2011][Question Description = S2_qSNz_PG_GP12_Q11]
1. Abductive technique/smemeft awofie

[Option ID = 8041]
2. Vignette technique/ gresfer ddofie

[Option ID = 8042]
3. Hermeneutics technique/xRm=1cad dosiia

[Option ID = 8043]
4. Outlier technique/afgafzft awofla

[Option ID = 8044]

7) What type of validity is this in which the researcher is encouraged to deduce hypotheses from a theory that is relevant
to the concept?

dal dEIdAT BT Dlol AT YR Bdl & Frad, vas ¥ar Bigia Si i srasmeon sit & yrifdis 3 33 oleradal o) ul¥awcuon eI oo & fore
Qiefad fop=n siren 3 ?

[Question ID = 2012][Question Description = S2_qSNz_PG_GP12_Q12]
1. Construct validity/forféfa derar

[Option ID = 8045]
2. Concurrent validity/zwrad! derar

[Option ID = 8046]
3. Face validity/sifdser (1) Jerar

[Option ID = 8047]



4. Convergent validity/siférm3t derar
[Option ID = 8048]

8) Given below are two statements

Statement I: Open coding is achieved by linking codes to contacts to consequences to patterns of interaction and to causes.
Statement II: Axial coding is the process of breaking down, examining, comparing, conceptualizing, and categorizing data.
In light of the above statements, choose the most appropriate answer from the options given below

il S werel fRu sre 3 ¢

®eel - | 1 e Addol ol e ufdvred, sia:fpn @ yfereul ik BRull A Siisw: Jb BIfSeT (3T BIfS91) B Yra b 3

@erol - |l : 31ieS T a1 (BT S13e1) USISIVT Dol delell B!, AYRRADT 3R FHaeifwur bt gigan efirria Bifser adt 3

SWRIP Pl D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar @I a6t HifSte :

[Question ID = 2013][Question Description = S2_qSNz_PG_GP12_Q13]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Gt 31t &

[Option ID = 8049]
2. Both Statement | and Statement Il are incorrect/@erer | 3z |l Sloil srcte 3

[Option ID = 8050]
3. Statement | is correct but Statement Il is incorrect/wmerer | 38l &, fovog el |l s1cta &

[Option ID = 8051]
4. Statement | is incorrect but Statement Il is correct/wmeret | sicia 3, fboq ®erer || & 8

[Option ID = 8052]

9) Match List | with List Il

List | List Il

A.
Selective coding|l. To discover the most significant or frequent initial code
that makes the most analytical sense

Il. The procedure of selecting the core category,
Systematically relating it to other categories, validating
their relationships, and filling in categories that need
further refinement and development

B. Initial coding

C. Focused Ill. It specifies possible relationships between categories,
coding these are integrative

IV. Comparing data with data, staying close to and remain

D. Theoretical X X S
open to exploring what is happening in data, construct

coding

and keep the code short, simple, precise and active.

Choose the correct answer from the options given below:
It -l oY g -1l 2 Fafera Hifsre ¢

et -| et -l

A. TISIHD B ADTN || rqffires sscagyf 3tz AR G IRBIG @ B FsT
(=f3er) D¥oll Si b Al f*euvT uzd JHST oltar 3

Il. Fea DI w16t Dot o1 Y srafRerd ave A 331 g
pIfel A SIS gu, 3A Hdel P dedI Yglol B, 311 Jol
DIfel Y Y ol I smel st uf¥grg siiz frasfta oot
@Y ra9ABdr 3

B. 3rRfdres @¢ Adddel

Ill. 18 Dlfe=di @ diw isfea Ader o1 =i &l &, A

C. Bfga mg Dot -
RAADCIGIICHD &

IV. 3icps A 31ids I geloll dll, forme 64 g 3ids 3 =i
D. Jgifered @e Ad>dol 381 3 3AD fe1u Igd 3@ell, D DI Blel ATURI uf9rg
1= Jafépa Satroin




it f3u a1e fraseul 3 ¥ 18l Ia= gferu ©

[Question ID = 2014][Question Description = S2_qSNz_PG_GP12_Q14]
1. A-l,B-IV,C-1,D-l

[Option ID = 8053]
2. A-IV,B-l,C-lll,D-Il

[Option ID = 8054]
3. A-l,B-lll,C-Il,D-IV

[Option ID = 8055]
4. A-lll,B-Il,C-IV,D-l

[Option ID = 8056]

10) There are various steps for creating survey forms using ICT application like Google Forms.
A. Select question type and create

B. Give name to survey form and save

C. Make questions mandatory/keep optional

D. Share with respondents

E. Configure the settings

Choose the correct answer from the options given below

3potet B3t SIR 3irE 2l € uftcrddoret w1 IURIIST bl 3T Ad B TR o1 & fafdeor arur 3 @
A. 921 YPR DI TRI6l 3R A R—IR DIl

B. 1<t wrt @ o3 ot 3iiR Aa del

C. gssil o siforart doirelt / faaea e

D. gfeifdgzn Sor arct & Arer AT Bl

E. Jifést &1 fae=ma

it fou o1 frpeul 3 A A IR BT a6 HIfSIE ¢

[Question ID = 2015][Question Description = S2_qSNz_PG_GP12_Q15]
1. B,D,E,C, A

[Option ID = 8057]
2. C,D,A B, E

[Option ID = 8058]
3. A CB,ED

[Option ID = 8059]
4.D,B,C, AE

[Option ID = 8060]

11) In a classroom context, when innumerable meaningful messages emanate from a finite number of linguistic signals, it is
called

T ogll @ e A ARl Addl b v HAfdra e A iy srefarer AT9I yase Bk 3, $A Dol SIIdl 3 &

[Question ID = 2016][Question Description = S2_qSNz_PG_GP12_Q16]
1. Semanticism/sreffdstrer arg

[Option ID = 8061]
2. Cognition/3isirer (@ffdctorer)

[Option ID = 8062]
3. Productivity/3curGamar

[Option ID = 8063]
4. Information processing/3deir gfepRiras3ur

[Option ID = 8064]

12) The advantages of diagonal communication are:
A. Resistance

B. Sidetracking

C. Anomie

D. Morale boosting

E. Co-ordination

Choose the correct answer from the options given below:



faraputfer FiguoT o5 cmsr 3 :

A. gferier

B. fareriiaR dlem

C. 3RIsImar (Toilfdr)

D. Scrsatier won

E. J@oaa

oiiI feu are el 3 A Al Ia= ol ©

[Question ID = 2017][Question Description = S2_qSNz_PG_GP12_Q17]
1. A, B and C only/daa A, B siiz C

[Option ID = 8065]
2. B, Cand D only/a@ae B, C sz D

[Option ID = 8066]
3. C,DandE only/dae C, D siz E

[Option ID = 8067]
4. B, D and E only/d@act B, D siiz E

[Option ID = 8068]

13) Given below are two statements

Statement I: Communication reflects the dimension of power.

Statement Il: Power and unethical communication are strongly inter-related.

In light of the above statements, choose the correct answer from the options given below
ofi &t et Ru sme 3 :

@l - | : AT 9its & 3R @t yolidfa wear &

P - |l : orftp 3iiR sroiferes AYHUT ISTgell A u=T 3 I3 3T 8

SWRIFP Poll D 3MIelld #, ofld 8w 31w frapedl 3 A A8l Iaz @I wrI6t HifSte :

[Question ID = 2018][Question Description = S2_qSNz_PG_GP12_Q18]
1. Both Statement | and Statement Il are true/em | 3iz || Sloli 31T &

[Option ID = 8069]
2. Both Statement | and Statement Il are false/a@erer | iz || Gloil sricT &

[Option ID = 8070]
3. Statement | is true but Statement Il is false/@er1 | 31 &, fpoqg werer || spicT &

[Option ID = 8071]
4. Statement | is false but Statement Il is true/mepot | srRIcI € , fbog el || A &

[Option ID = 8072]

14) ldentify the sequence of cultural barriers in communication as listed by experts:
A. Methods of conflict resolution

B. Difference in tolerance of conflicts

C. Semantic

D. Tone difference

E. Word connotation

Choose the correct answer from the options given below

RISt gr1 Fedtag AU F Aizplers sieRIewl & A8 G Bl UsAIe
A. Jiad Jcrsiel bl ugleri

B. =dt @ yfer afdwugar 3 Broorar

C. 3ref - faster

D. @z - f¥eorar

E. orec sifdtermest

i) feu s1u famedl 3 A A8 IR D1 TRIe BRI :

[Question ID = 2019][Question Description = S2_qSNz_PG_GP12_Q19]
1. C,E, D, B, A

[Option ID = 8073]
2. D,B,C,AE



[Option ID = 8074]
3. E,AB,C, D

[Option ID = 8075]
4. A, C,E D,B

[Option ID = 8076]

15) Match List | with List Il

List | List Il

Communication paradigms L.
Description

IA. Encoding-decoding |. Realistic imagination of others' views

Il. Participants are autonomous

B. Intentionalist X X
information processors

lll. Conceiving communication as a process

C. Perspective taking
that uses language

D. Dialogism IV. Purposeful use of language

Choose the correct answer from the options given below:

et -l B et -1l A Pk i :

et -I et -1l
(3wt yfewrrer)  |(caro)
A ,H"f’"“' I. grd & Rrart &t aenefard aeuon

B. forfcarefarst Il. 81131 ol arel FaRI ol A 3

Ill. vep yfdpzn @ U 3 AYUUT &1 UGl Bl Sil HIHT DT IURIIST

C. Cloll
afgest it 31

D. sRrciifSrsa IV. srar o1 3Ageaygul suRNst

il f3u a1e faraseul 3 2 8l Ia= gferw ¢

[Question ID = 2020][Question Description = S2_qSNz_PG_GP12_Q20]
1. A-ll,B-ll,C-IV,D-l

[Option ID = 8077]
2. A-ll,B-IV,C-l,D-Il

[Option ID = 8078]
3. A-IV,B-I,C-ll,D-ll

[Option ID = 8079]
4. A-1,B-Il,C-ll,D-IV

[Option ID = 8080]

16) What number comes next in this sequence?
19648, 1728, 112, ?

3 9jacHr 3 3Tkl Plet Ml Fizear airedt 3 ?

19648, 1728, 112, ?

[Question ID = 2021][Question Description = S2_qSNz_PG_GP12_Q21]
1. 2

[Option ID = 8081]
2. 12

[Option ID = 8082]
3. 22

[Option ID = 8083]
4. 62

[Option ID = 8084]

17) A, B and C share a certain sum of money among themselves. A gets 35%, B gets 1500 and C gets 1/20. How much is
the original sum of money?



A, B 3iiz C uop forfdaa 21fdr smut 3 aarsm a8 A @t 35 %, B @1 ¥1500 3iik C @1 1/20 gra a1 & &re1 i et i1 fvaott 8 ?

[Question ID = 2022][Question Description = S2_qSNz_PG_GP12_Q22]
1. 1500

[Option ID = 8085]
2. %2000

[Option ID = 8086]
3. 32250

[Option ID = 8087]
4. %2500

[Option ID = 8088]

18) Senthil said, "This lady is the wife of the grandson of my mother.” Senthil is the only son of his mother and has no
sister. Who is Senthil to the lady?

Jiferet of eI - "as Afdcn A3 Af S TIA B ucell T " Aferar sruehl FAY BT sDHCAIAr et 3 3R IAD! DI Tl oidl 3 Afrer Afder w1 Dot 3 ?

[Question ID = 2023][Question Description = S2_qSNz_PG_GP12_Q23]
1. Husband/ufet

[Option ID = 8089]
2. Father-in-law/Rp

[Option ID = 8090]
3. Daughter-in-law/gqgazy,

[Option ID = 8091]
4. Brother/oms

[Option ID = 8092]

19) Given below are two statements

Statement I: If two numbers divided by a third number give the same remainder, their difference is exactly divisible by
that number.

Statement Il: Least common multiple of two or more given numbers is the largest number which is exactly divisible by each
of them.

In light of the above statements, choose the correct answer from the options given below

ofi &1 werer Ru sre 3 ¢

Dol - | 1 PR 3l AU vp dR1E) I & FRI fepnfoia fopu Sirol U aIret 99 it 3, IoTep1 3id= 37 e A guia: s 3
et - |1 @ € srRit 3 a1 33RY sif2res A3l T argad AMIadd ds AR T3 ASAT Bl 3 Si Jotdl A YAD D FRI Yuia: fnmsa
JURITP DYoll B 3Tl 3, ofll fSu 31w famedl 3 A A8l 3= @1 a6l HiIfSTE ©

[Question ID = 2024][Question Description = S2_qSNz_PG_GP12_Q24]
1. Both Statement | and Statement Il are true/aeret | 3iiz || Slell 3 &

[Option ID = 8093]
2. Both Statement | and Statement Il are false/a@erwor | iz |l Qlail 3RIcT &

[Option ID = 8094]
3. Statement | is true but Statement Il is false/@epr | 3= @ , fbog Dot |l 3R &

[Option ID = 8095]
4. Statement | is false but Statement Il is true/@emr | 3R 8, fbog @erer | AT &

[Option ID = 8096]

20) Which of the following statements are correct?

A. A bullet covers 55 meters in 2 seconds. Its speed is 99 km/hr

B. A can complete a work in 10 days. In 5 days, he can complete ~; fraction of the work
C. Walking at -2— of his usual speed, a girl is late by 2% hours. Her usual time is ?% hours.

Choose the correct answer from the options given below:

frofafed oyt R fagr @i .
A. U S B1 TMdT 2 s | 55 1. B gl a9 Beal &1 39P1 91 99 fH AT, / Her gl

B. A TP S &1 10 & & QI Bl 21 mﬁﬁ,a’a’ﬁmﬁ% YRR ST 2



c.@aﬁmww%%waﬂﬁgﬁzé ﬂ%ﬁﬁaﬁa%mww% Her gl
i U Y fadedl & ¥ Hel STk &1 99 DIl :

[Question ID = 2025][Question Description = S2_qSNz_PG_GP12_Q25]
1. Aand C only/ddet A iz C

[Option ID = 8097]
2. Aand B only/dact A siiz B

[Option ID = 8098]
3. Band C only/@act B siiz C

[Option ID = 8099]
4. Conly/aae C

[Option ID = 8100]

21) Match List | with List Il

List | List Il

Proposition in Square of Opposition [Resultant

A. If 'A"is False I. 'E" is False;" I' is True

B. If 'E' is False Il. 'A' is True; 'E' is True

C. If 'I'is False Ill. 'A" and 'O" are Undetermined
D. If 'O is False IV. 'E' and 'I' are Undetermined

Choose the correct answer from the options given below:

it -l oY gt -1l A Farfera Hifsre ¢

et -1 et -l

(awara=r o1 forYer - aof) (forsaoe)

A. 3z ‘A a3 I. 'E smrcar 3; T wieer 3
B. a1z 'E' s 3 Il ‘A" s 3; 'E wieer 3
C. apr ' aricer 3 L. "A" 3tz 0" arfdrertfeet ¥
D. 3pr 'O’ s 3 IV. 'E' sz "I afdrerffya &

ofi fRu a1e frcul 3 A 21d) 3= gfore :

[Question ID = 2026][Question Description = S2_qSNz_PG_GP12_Q26]
1. A-IV,B-lll,C-ll,D-l

[Option ID = 8101]
2. A-ll,B-Il,C-1,D-IV

[Option ID = 8102]
3. A-ll,B-IV,C-l,D-l

[Option ID = 8103]
4. A-1,B-Il,C-ll,D-IV

[Option ID = 8104]

22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the
case is known as

S U 3d, <l Rudla eftcoplvil @ a1er1 aeilR1e Sictal & Rrefer @& grqdie=ur @ a1el ol siar 3, dl A8 Y=ol SIiell SIdl 3 &

[Question ID = 2027][Question Description = S2_qSNz_PG_GP12_Q27]
1. Fallacy of Viruddha (contradictory middle)/ g cansma

[Option ID = 8105]
2. Fallacy of Asiddha (unproved middle)/sifRtg Scarsm=t

[Option ID = 8106]
3. Fallacy of Prakaranasam (counteracted middle)/yavria Scarsirn

[Option ID = 8107]
4. Fallacy of Savyabhichara (irregular middle)/3rcfsrare 3carsm

[Option ID = 8108]

23) Name the fallacy committed in
"Some good actors are not strong men.
All professional wrestlers are strong men.

Therefore, All professional wrestlers are good actors."



B DI ol TATST :

@ D 3if¥eldl gcroncil HoRT ofdl B &
eft Q9a? Uscrdrel dci9lictl gHY 3id 3
safere, st O9IaR Uscarel e SMfIoIr BIl 3

[Question ID = 2028][Question Description = S2_qSNz_PG_GP12_Q28]
1. Illicit major/3mder e

[Option ID = 8109]
2. Ilicit minor/3amder ust

[Option ID = 8110]
3. Undistributed middle/siforerif3a aq

[Option ID = 8111]
4. Affirmative conclusion from Negative Premises/J@RIcad forsat, SIbRICHD SR drarRT 3

[Option ID = 8112]

24) Which of the following is taken to mean inference by elimination, in which the inferred character is the residuum of a
process of elimination that excludes other characters?

forgstifepe 31 3 Blol o6 D FRI AR IIoHIGI D WU A foRM sRM 3, PR sropfora fadiuar, foretet &I yfipir @I sy 3 i grdl fadruarsii
@1 uafsfa o 3

[Question ID = 2029][Question Description = S2_qSNz_PG_GP12_Q29]
1. Purvavat Anumana/ydad_ sfojerot

[Option ID = 8113]
2. Sheshavat Anumana/ 9iuad 3reftet

[Option ID = 8114]
3. Samanyatodrshta/3mrcrdese

[Option ID = 8115]
4. Paksa/ust

[Option ID = 8116]

25) Which of the following pertains to fallacy of ambiguity?
foraot 31 3 Dol sroclpIeldar dcamrt (BeRdl sifw elissyd) A FdEfea 3 ?

[Question ID = 2030][Question Description = S2_qSNz_PG_GP12_Q30]
1. Equivocation/wrfereperer (sarmdra>orel)

[Option ID = 8117]
2. The straw man/oaseisT (3¢idor)

[Option ID = 8118]
3. Hasty generalization/ offg Jmmeeftaszur

[Option ID = 8119]
4. The red herring/3s &f¥a1

[Option ID = 8120]

26) What is a Utility program?

ARRIA Groper e 3 ?

[Question ID = 2031][Question Description = S2_qSNz_PG_GP12_Q31]
1. It translates data into a format understood by the device/fSarsas & g1 J@rs Sio! diell Widie 3 ScT dY Felidfd war 3

[Option ID = 8121]
2. It permits the sharing and exchange of data/Ser @ sn 3iiz fafowrr b sl Sar &

[Option ID = 8122]
3. It makes copies of files on another storage device/gzR ¥3Ra fFast w2 wisdl &I yfefert gotrar &

[Option ID = 8123]
4. It is a part of the operating system which carries out defragmentation or disk formatting/sifu3fést Biecar @1 as #i1e1 St fSheEic9orRn 3D widiidsr w2 3

[Option ID = 8124]

27) Match List | with List Il

List | List 1l

IA. Network System |l. Email

B. Operating System|ll. Firewall
C. Memory Ill. Mac

D. Communication [IV. ROM




Choose the correct answer from the options given below:

It -1 oY gl -1l A Faifera Hifvr ¢

rxeht -1 Rzt -l

A. orca® ATRE I, $dre1

B. sifurfésr Rrea Il. BRR dfax

C. Jast Ill. 3w (var. w. 2fl)
D. wxgforadorst IV. 3ta (31R. 3il. waL.)

offa f3u a1e faraseul 3 ¥ 18l Ia= gferw ¢

[Question ID = 2032][Question Description = S2_qSNz_PG_GP12_Q32]
1. A-1,B-Il,C-1ll,D-1IV

[Option ID = 8125]
2. A-1L,B-1V,C-1,D-Il

[Option ID = 8126]
3. A-ILB-1,C-1V,D-1

[Option ID = 8127]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 8128]

28) Read the following statement and choose the CORRECT code:

A. Radio frequency identification systems use radio waves to read and capture information

B. MICR (Magnetic Ink Character Recognition) characters are easy to forge and cannot be written over
C. OMR (Optical Mark Recognition) reads marks written in pencil or pen in specific places on a term.

D. Optical Character Recognition (OCR) scans the text and converts it into a computer-readable format
E. Barcodes can be forged or damaged

Choose the correct answer from the options given below:

forgeiferRaa weret @ ug 3iik A8 BIs o :

A. JToIrsli Bl JEUT Dl AT UGl D feru 3= fipadil srsSfefibaoret Rizear M3 aen o1 gRIeT Bt &

B. w3 RAlamR. (Joifed s DIace RepifSororet) @ IR ARIIGl A fafeifdia ald & a2 Soid SUR o181 ferar S Adar
C. 3iLuA3iR. (iftcpa Aarw Roifdargrer) il wist ur v fafdrse Ferret 3 Uforet 3rerar e A R 318 Rial @I ug cidr 3
D. siiftemer dI¥ac Rapifdargrer (3.2M1.312.) Taze DI Fdol B & AR BIRYR D GRI UG Sliol A Wide 3 acer Sar s
E. ar®Is @I gifer ugaril S Awmdl & A1 SIeRArsd v St Amdr 8

il fou s1u frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 2033][Question Description = S2_qSNz_PG_GP12_Q33]
1. A, B and C only/dac A, B siiz C

[Option ID = 8129]
2. B,C,DandE only/dac B, C, D3l E

[Option ID = 8130]
3. A, CandE only/dac A, C sz E

[Option ID = 8131]
4. A, C,Dand Eonly/@aa A, C, D3l E

[Option ID = 8132]

29) Given below are two statements:

Statement I: Every time a device connects to a network, it is given an IP (Internet Protocol) address.
Statement Il: Devices that never disconnect retain the same IP address.

In the light of the statements, choose the correct answer from the options given below

ofi & Dot Ru sme 3 :

Pl - | : 32 ar v RBasA [ olcads A J3dI 8 dl =4 AUl (3ol Qawia) ¥3 G siran 3

Dol - || : Bars st ol 97 Brolac o1dl 31 JordT 3.l V3 ATl Toll el 3

SWRIFP Doll D 3MIclld #, ofld 8w s1u frapedl 3 A A8 Iaz @1 wrI6t HifSte :

[Question ID = 2034][Question Description = S2_qSNz_PG_GP12_Q34]
1. Both Statement | and Statement Il are true/@em | 3i || Sloll 31T &

[Option ID = 8133]



2. Both Statement | and Statement Il are false/a@ermr | iz || Slail sriT &

[Option ID = 8134]
3. Statement | is true but Statement Il is false/merer | 3= 8, fipog werer || sRicT &

[Option ID = 8135]
4. Statement | is false but Statement Il is true/@emt | sRIcT 8, fbog @erer | 3T &

[Option ID = 8136]

30) Match List | with List Il

List | List Il

IA. Measurement Application [I. Automatic Oven

B. Control Application Il. Website

C. Modelling Application Ill. Weather station

D. Communication Application|lV. Car Crash Simulator|

Choose the correct answer from the options given below:

it -l oY gt -1l A Farfera Hifsre ¢

Rt - cigdll

A ds1dic Bfterddorot |. TAf3rD sitaor

B. @cier Sfterd>oret Il. qe=Ize

C. Fiisfeisr Sftcradorer Ill. d2 Foro1

D. wwgfora>oret Bftcaradoret IV. @1 &, 91lR3cic:

offa f3u are faraseul 3 3 A8l Iaz gferw ©

[Question ID = 2035][Question Description = S2_qSNz_PG_GP12_Q35]
1. A-1,B-1l,C-1IV,D-1l

[Option ID = 8137]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 8138]
3. A-Il,B-1IV,C-1,D- 1l

[Option ID = 8139]
4. A-11,B-1V,C-1I,D-1

[Option ID = 8140]

31) Which of the following are the missions of the National Action Plan on Climate Change?
A. National Solar Mission

B. Green Indian Mission

C. Western Ghat Development Mission

D. National Water Mission

E. Air Pollution Mitigation Mission

Choose the correct answer from the options given below:
fogatfeiRaa 3 A Plel - A Sicrary uf¥ade U= IR DR Ason @ ot 3 ?
A. IsERr Al frorer

B. sfed sira firorer

C. uisdl are fra freret

D. I s R

E. ary gyguur suemiel f3rerer

il fou s1u fyeseul 3 2 W& IR BT a6l HIfSIE ©

[Question ID = 2036][Question Description = S2_qSNz_PG_GP12_Q36]
1. A, B and D only/daa A, B siiz D

[Option ID = 8141]
2. A, B, D and E only/daet A, B, D aiz E

[Option ID = 8142]
3. A, BandE only/dact A, B 3l E

[Option ID = 8143]
4. A,C,DandEonly/@ac A, C, D3l E

[Option ID = 8144]



32) Nationally Determined Contributions of European Union (EU) countries aim at a reduction in Green House Gas emissions
by the year 2030 (in the reference to 1990 levels) to the extent of

R ¥ig (EU) @ Soll @ Isdla ¥ar uz forerif¥a Aprerell @1 329w 3 fob 2030 ao (1990 @ =i @ ol ) shasys 3l & 3sker 3
a® &t ol bl s

[Question ID = 2037][Question Description = S2_qSNz_PG_GP12_Q37]
1. 40%

[Option ID = 8145]
2. 50%

[Option ID = 8146]
3. 35%

[Option ID = 8147]
4. 55%

[Option ID = 8148]

33) Which of the following contaminants in water can cause adverse human effects such as mental disturbance and
impairment of speech, hearing and vision?

Sict # forgetferRaa 3 A fopa Jicue A AIRIE stornifer iz amfl, oaur wd zfte &I arensii Sl gferae ysira Aol FaReT U= 8l ADd 3 ?

[Question ID = 2038][Question Description = S2_qSNz_PG_GP12_Q38]
1. Arsenic/smiform

[Option ID = 8149]
2. Methyl mercury/ferset urt

[Option ID = 8150]
3. Lead/3fr

[Option ID = 8151]
4. Nickel and Chromium/ferdet sz @ifdrmer

[Option ID = 8152]

34) Identify the correct sequence of countries that are the world's leading geothermal power (in MW) producers.
A. New Zealand

B. Iceland

C. USA

D. Indonesia

Choose the correct answer from the options given below

foreq @ sEpull srandi sif (MW) Scureem Sofl & 13l @t &l usarel @3 &
A. ogsiicts

B. smsarcis

C.guau

D. sSiaiforn

il feu sru faeedl 3 A A8 IR D1 WRIel B :

[Question ID = 2039][Question Description = S2_qSNz_PG_GP12_Q39]
1. C>A>B>D

[Option ID = 8153]
2. A>C>B>D

[Option ID = 8154]
3.D>C>A>B

[Option ID = 8155]
4, C>D>A>B

[Option ID = 8156]

35) Match List | with List Il

List | List Il

IA. Montreal Protocol |I. Environment and sustainable development

B. Rio Summit Il. Reduce the emission of Green House Gases
C. Kyoto protocol Ill. Climate change mitigation and adaptation

D. Paris agreement [IV. Ozone Depletion




Choose the correct answer from the options given below:

et -l B et -1l A gk S :

et -1 et -l
A. Fiifezrer Qicioier . rRiferzvr 3ii? FHemvila frora

B. fyil foras F3drctor Il. sf¥esys 31l @ Iezrsior 3 @l e
C. TRIIeT gIciaier Il Srerary uf¥arior SuoRIel @ sfofdycTol
D. afyr aarsiiar IV. siisiler grzor

offa) fou are faseul 3 ¥ 18l Iar gferu ©

[Question ID = 2040][Question Description = S2_qSNz_PG_GP12_Q40]
1. A-l,B-1,C-ll,D-IV

[Option ID = 8157]
2. A-ll,B-lIl,C-IV,D-l

[Option ID = 8158]
3. A-IV,B-l,C-ll,D-l

[Option ID = 8159]
4. A-IV,B-ll ,C-1,D-ll

[Option ID = 8160]

36) Association of Indian Univercities (AlU) is established with an objective to:
A. Maintain quality and standards of universities

B. Serve as an Inter-University Organization

C. To facilitate communication, co-ordination and mutual consultation amongst universities
D. To recognise universities to run different cources

E. To act as a liaism between the universities and the governments.

Choose the correct answer from the options given below:

il frafdencrn e (wssy) &t Femuon fovor 329l & forw &¥ oft ©

A. Rrafdencril &1 syuradr 3 HAlerpl bl S¥asIeT Dol

B. 3iar - farafdencrr Fstoor & U 3 Adr Bl

C. Rrafdencril & &b d IFar, AdAca AR RFR uEef & gfren yeror oo

D. fafdreor urgaIapd <ciiol @ fere faraldencril & usarst wen

E. forafdencril 3k IRPRI @ dia JAU® - Feud @ U d DRI Bl

i) feu s1u famedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 2041][Question Description = S2_qSNz_PG_GP12_Q41]
1. A, B and C only/dact A, B siiz C

[Option ID = 8161]
2. B, Cand E only/@acr B, C siR E

[Option ID = 8162]
3. B, C and D only/dqe B, C sz D

[Option ID = 8163]
4. A, B, Cand D only/daet A, B, C 3iiz D

[Option ID = 8164]

37) Which of the following is NOT a parameter for ranking according to NIRF?
Qol 3115 3[R U @ 3oAR 23l D feru forgsiiciRad 3 3 mlol AT b HAlGID oldl & &

[Question ID = 2042][Question Description = S2_qSNz_PG_GP12_Q42]
1. Teaching, Learning and Resources/fSremwr, siféerer iz Jimerot

[Option ID = 8165]
2. Campus Placement/uf33z Fereter (Bud Wiidic)

[Option ID = 8166]
3. Research and Professional practice/olter 3z wiranfRicn w1 (Jfire=t)

[Option ID = 8167]
4. Outreach and inclusivity/sm3edia iz Jemafdrar

[Option ID = 8168]

38) SWAYAM is initiated by Govt of India with an objective to



A. Ensure best quality content produced and delivered

B. Provide quality materials with nominal cost

C. Teach all classes from class-IX to PG

D.Assess students continuously and grant degrees

E. Accessed by anyone, anywere at anytime

Choose the correct answer from the options given below:
HRA IRDR GRI 9 g srm Fari (SWAYAM) @riagH o1 389 3 :
A. 303 Iurad drell fRI - g Jotlol 3i1R Ygrel fep Sirel @l Fforfada aeln
B. oiRmeI dlera Uz IuradIgui AEE] YsIdl doll

C. @ - IX 3 wReras ao wsft ogirsii ol uarelr

D. fenffRil o1 ePaR Jcaidd 3R IUIfeI Yglel doll

E. foo2fl & grI, od A, =il o w1 uga 3 sien

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 2043][Question Description = S2_qSNz_PG_GP12_Q43]
1. A, Cand D only/daer A, C 3iiz D

[Option ID = 8169]
2. A, CandE only/@aer A, C sz E

[Option ID = 8170]
3. A, Band C only/dact A, B aiiz C

[Option ID = 8171]
4. B, C and D only/daa B, C siiz D

[Option ID = 8172]

39) Match List | with List Il

List | List Il
IA. The Education commission 1. 2009
B. National Policy on Education Il. 1964-66

C. University Education Commission [lll. 1986
D. National Knowlegde Commission [IV. 1948-49

Choose the correct answer from the options given below:

eft - B et -1l A gk Sifde :

et -| et -l
A. Rrem arreiier l. 2009

B. areéker Rigm ofifir II. 1964 - 66
C. Rreafrencre Rigr smiist IIl. 1986

D. Ik siret ST IV. 1948 - 49

ofia fou a1e facul 3 21 21d) 32 gfore ©

[Question ID = 2044][Question Description = S2_qSNz_PG_GP12_Q44]
1. A-1,B-lll,C-ll,D-IV

[Option ID = 8173]
2. A-IV,B-lll, C-Il,D-l

[Option ID = 8174]
3. A-l,B-lIl,C-IV,D-l

[Option ID = 8175]
4. A-Il,B-Il,C-IV,D-I

[Option ID = 8176]

40) The statutory body responsible for maintaining quality and standard of teacher education in the country is:
Sor 3 sreamues fA1811 SUIARI 3R Hleld B TolIy ol & fere IJacrll Aifafire fororn 3 :

[Question ID = 2045][Question Description = S2_qSNz_PG_GP12_Q45]
1. AICTE/uam A& $

[Option ID = 8177]
2. NCTE/uwor 2t ¢ ¢

[Option ID = 8178]



3. NCERT/wer 3 $ a1 ¢t

[Option ID = 8179]
4. UGC/esh 3

[Option ID = 8180]

Topic:- GP12_D2_SH2_SET2_C

1) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.

SIEN9l DI ufeu a Yool &I Ik SIferu :

GaId @ 3MoID APIGIIDd DPR® & - [AIT B2 PRI 3R ! Adel PN - KBed gdera forifdd mar 3 3iiz sl sos ANt srerar uizafdia
fopen s Apar 3 A Jviehierl 3 daaR wafardt wriol a BRI Fereret, Yforsvl, Aenef e arar forerfor, ®rf @1 gor: sifdrecuot, adl &8
ol selicrsl, daar APofrd AU, wfardl fepa 3z GrRUNC Faren origH onfict 3 T8 BRI s &t e 3iféres garagef 2 3,
Uq SRIRP &30t St &, caramidl Reuferil 3 freor-fieol et ftool Yegar A S & Sireld 3 o5 @a 3igfsrd 3rerar foriqur @ aral o1 arcx
iafep 3ifer o/ gavt 8l @ arRiel 3ii FTelal forofal 3f so1 el ol eret 3 231 Sifell aifde  Fuec 3 o gaeror @l sl ol siiaf¥® el arct
3ol cafepRal awm 3 M a8l 2on aifde, uReq ¥ wAftp I<a gaa darcl Sifd 3 3ifers gl U 3 oIl 3l Add & gl ars, Yiorgivr A
cafepal &t TR b ganfarar ag Awdl 3 3R 33 fore BRI @1 doia @a @2 JADdl T S/ caftpal o Jruse q goildiyet caga Brerd 3 s sor
c1gl bl 3R Iorchl YpiIfer @ ar A gfergfte yrd aiddl 3, Al 3ol Ygolel &R SIdl & 18I Gaid 3 Bl ol Add & 3R AR 3f Yglel B2 Add
3 sruol cagAl @ yfer sraferep Faftia siiz srael orRI @l 329a yul sirerel arcl waltaif¥il @l @ card srepd il 3 aRIife sl sifere smon 3 b
q <aIa DY FIEI HAlelol D FATT UR 3 TP Folledl A6l VA JFuse e18A Yg9fat 3rdginsil ol Fuse w2 & fOrordd Yr Slot oI el 3l & 33D
aiferfep, deg yfegfte arafde orf ygolor el sifoifrarsii o o ol 3 ulvmar Fasu wtar] saren, BT serereldar ik caa oa slen
il @l 3frd g, 3ifere Arefd DRI Sol, 3if2rd Farmar 3R sifére yfargfte Sol @ e BRI @I Yor: Sifirpfcud a2 ca ®I acrIT Sl
DI & TAID A Tcp PIHAIRII DI PRI SffafZrRI uR 3ifere foriquT a1 3k grRI u= fonizar i ol @1

Which of the following form the management strategy for reducing organisational stress factor?

(A) Achievable goals

(B) Employee wellness

(C) Compulsory leave

(D) Top-down communication

Choose the correct option:

JHisT6foIh Gara BR®I DI #clol d feru foafclRaa 3t A o= ydere 2vriifer 3 afdafera 3 ?

A. g1 e

B. wafardt yaverar

C. siforart sradrer

D. Iuz 3 i AYwor

il féu are fraseul 9 2 W& 3= goi ¢

[Question ID = 2046][Question Description = S2_qSNz_PG_GP12_Q46]
1. Aand B/@ac A siiz B

[Option ID = 8181]
2. Band C/@aer B 3z C

[Option ID = 8182]
3. Cand D/aac C aiiz D

[Option ID = 8183]
4. Aand D/daer A aiie D

[Option ID = 8184]



2) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.

STEMi9l DI Ufeu d Yool oI 3R SIfSrT &

GAId @ 31oID APIGIID PRD & - [AIT B2 PRI 3R P! Hdeh Pl - FBed gdere forifda mar 3 3z sAfeu sos ANt srerar uikafdia
fopen s Apar & A Jviehierl 3 daaR wafardt wrIor a BRI Fermeret, Yfdrsl, aernef we arar forerfzor, orf @1 gor: sifdrecuot, adl 8
ot seficsl, daar AikIoford AU, wafardl fepa 3z GrRURC Faren origH onficcl 3 T8 ORI i &f e 3iférs garagef 2 3,
o SRIRP a3101 331 8, caramil Rerferil # ficor-iiool st fifeel Yrgar A 3 a4 Silold 3 185 a1 sropya srerar foriquT & ar@l cliepad arcT
iafep 3iferd cara gavt 8l & arRIel 3iiR FeuTelal forofl 3f so1 el ol eret 3 331 Sifell afde  Fucc 3 o5 gaerol ol sl I siiafl¥® el arct
3roprdl cafepeIl o 3 M3 ordl Fdaon anfdn, uRed QA AP 3w card ard Sifd 3 sifere geirdl u 3 sredpferd 81 Awa & sl avs, yfdigr A
aftpdl oI FaRl DI gHIFAT 96 Adddl 3 3R 3 e DRI DI dolld B B2 ADl 3 S RATpAI DI FFUte q Joildiyul c1gA [ierd 3 3iiz sof
c1gl bl 3R Iorchl YpIfer @ ar A gfergfte yra aidl 3, Al 3ol Ygolel daa= aIal & 18 G 3 Pl ol Add & 3R AR 31 Yglel B2 ADd
& 3ol agAl @ gfer srcafires araftia siiz srael Brf @1 3T9d Yt Alclel arcl waeni¥il @1 B Sard 3o 3Idr & TRiifes sl 3ifere smom 3 &5
d GaId DY TIET AloTol B TeAToT UR 33 TP Tollddl Aol WA JUeC clg Ygofol 3ragmsil ol Fuse w2 3 Rierdd Yra Blot T el 31 3 3D
sifeif¥ep, ciga gfergfte arafe oRrRI ygelor Jdell sifsirasii o @ oxil 3  uf¥vier Fasu mfardl sdamen, 4B soiorelar iz sara o den
PRl oY siferes cif¥ica, sif2re Mrefes @R 3o, sif2re Farmd sz sif2re gfergite o @ fere &Rl ol yor: sifdrapfeud o= cara ot aern s
ADAI & TP A ge watani¥il B Bri srfafafril uz sifere foriqur 91 ik g2l uz fonizar 3 @l w3t

What type of people are more prone to stress than others in the organisation?

Jo16el d gIRI B el 3iferd e/ gavr arel olist b1 YR @ 3l 8 ?

[Question ID = 2047][Question Description = S2_qSNz_PG_GP12_Q47]
1. Individuals with job experience/wr! srojsra arcl wifcp
[Option ID = 8185]
2. People with outside position of control/friqur @ &3l ucare et
[Option ID = 8186]
3. Employee with internal locus/sidf¥a cliasat arer dafarst

[Option ID = 8187]
4. People who are assigned new responsibilities. /d elier 5168 ofe oIRrca Al ST &

[Option ID = 8188]

3) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.
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Which of the following can reduce the job strain?

(A) Hiring of only young people

(B) Emphasising performance expectation

(C) Commitment to the job

(D) Perception of hindrances as challenges

Choose the correct option:

forgoiferRaa 3 2 o= - T=I1 PRI dolrd @I Jerdar 3 -

A. dact garsii oI sl UR Rell

B. @RI ygofar sragmsii uz & Soit

C. orf @& yfer arardor

D. aren @1 goliell Arelol @I dXer

il fou s1u fyeseul 3 31 & Fa= goi ¢

[Question ID = 2048][Question Description = S2_qSNz_PG_GP12_Q48]
1. Aand B/dact A 3z B

[Option ID = 8189]
2. Band C/a@ac B siiz C

[Option ID = 8190]
3. Cand D/@aa C 3z D

[Option ID = 8191]
4. A and D/aact A siiz D

[Option ID = 8192]

4) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.
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Employee frustration and role ambiguity can be reduced by

forgatferi¥ad 3 A fPAD TRI DI a1 31 YD oIl DI TR ST APl & ?

[Question ID = 2049][Question Description = S2_qSNz_PG_GP12_Q49]
1. Assigning low stress work/a1 gera arell ®rf a B2

[Option ID = 8193]

2. Harsh evaluation of job performance/®rf ygolor @1 @31 He=licbot
[Option ID = 8194]

3. Changing the level of task performance/®rf ygoler o1 ¥R ul¥afeid o=

[Option ID = 8195]
4. Providing performance feedback to employee/wsfafii @t ygeler yfegfite yerer &2

[Option ID = 8196]

5) Read the given passage and answer the following question.

Several organisational factors that cause stress-particularly task and role demands-are controlled by management and thus
can be modified or changed. Strategies to consider include improved employee selection and job placement, training,
realistic goal-setting, redesign of jobs, increased employee involvement, improved organisational communication, employee
sabbticals, and corporate wellness programmes. Certain jobs are more stressful than others, but, as we have seen,
individuals differ in their response to stressful situations. We know individuals with little experience or an external locus of
control tend to be more prone to stress. Selection and placement decisions should take these facts into consideration.
Obiviously, management should not restrict hiring to only experienced individuals with an internal locus, but such
individuals may adapt better to high stress jobs more effectively . Similarly, training can increase an individual's self-
efficacy and thus lessen job strain. Individuals perform better when they have specific and challenging goals and receive
feedback on their progress toward these goals. Goals can reduce stress as well as provide motivation. Emloyee who are
highly committed to their goals and see purpose in their jobs experience less stress, because they are more likely to
perceive stress as challenge rather than a hindrance. Specific goals perceived as attainable clarify performance
expectation. In addition, goal feedback reduces uncertainties about actual job performance. The result is less employee
frustration, role ambiguity and stress. Predesigning job to give emloyee more responsibility, more meaningful work, more
autonomy and increased feedback can reduce stress because these factors give employees greater control over work
activities and less dependence on others.
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The measures suggested in the passage to reduce organisational stress are:

(A) Redeployment of employees

(B) Allowing workers more control over their activities

(C) Retrenchment of non-performers

(D) Re-distribution of specific goals

(E) Re-designing of jobs

Choose the correct option:

ARford card @l Terol @ fere sreErior 3 JIIT 318 IURT 3 :

A. o3t &bt gor: dorredt

B. wfnf¥=il ot Sord fopemasenal uR 3iférs forRiquT Sor

C. ggefal of wotarcil &t seoft

D. farfdree cigi @1 Yoifdazor



E. orif @I yelsifirocas

il fou s1u fyeseul 3 3 & Fa= goi ¢

[Question ID = 2050][Question Description = S2_qSNz_PG_GP12_Q50]
1. A, B, Conly/@aa A, B sie C

[Option ID = 8197]
2. B, C, D only/daa B, C iz D

[Option ID = 8198]
3. C, D, Eonly/aae C, D si E

[Option ID = 8199]
4. A, B, E only/dact A, B sz E

[Option ID = 8200]






